H=25m H=23.
3 5 I 2 |
1 2 ,g_ i e ,8_ |
8 @ + N B g __,"." o o
2 T i = §
] - K g E E
= o= B ' = i % %
e | = ®
BHEER ERK30mHV))
*rE 2.5m 3.0m
| MSP-2510% | MSP-3010% | MSP-3015% | MSP-2510% | MSP-3010% | MSP-3015%
- MSP-2505 24 — o= 0 = —
l/ MSP-2510 48 — — 72 — —
| MSP-3005 — 20 0 — 0 20
h MSP-3010 — 40 20 - 60 20
MSP-3015| — 0 20 — 0 20
’sﬂ% 72 60 60 72 60 80
W B 144 120 80 144 120 120
MCS 48 40 40 48 40 40
MPH 4 4 4 4 4 4
B E (ton) 15.0 13.2 12.6 16.8 14.9 15.8
S H B MST — 12 TEHEMHR 28 G E R
CAHEE
() FH(50~70cm) % L £ ¥, @) #tiEN 1=y hORALTAHE (3 3B(RE 3 ETRAET TT.
LET,
'.'7'1 i'




